

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia Solicitation Response

Proc Folder: 1148142

Solicitation Description: Corrugated Steel Culvert Pipe

**Proc Type:** Central Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2022-12-27 13:30
 SR 0803 ESR12202200000002895
 1

**VENDOR** 

000000125569

LANE ENTERPRISES INC

Solicitation Number: CRFQ 0803 DOT2300000071

**Total Bid:** 377918 **Response Date:** 2022-12-20 **Response Time:** 10:12:54

Comments:

FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566 john.w.estep@wv.gov

Vendor Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Dec 27, 2022 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	57" x 38" Corrugated Steel Pipe	300.00000	) FT	224.960000	67488.00

Comm Code	Manufacturer	Specification	Model #	
40171527				

Commodity Line Comments: 12 GA GALV

**Extended Description:** 

57" x 38" Corrugated Steel Pipe

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	64" x 43" Corrugated Steel Pipe	100.0000	) FT	252.400000	25240.00

Comm Code	Manufacturer	Specification	Model #	
40171527				

Commodity Line Comments: 12GA GALV

**Extended Description:** 

64" x 43" Corrugated Steel Pipe

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	71" x 47" Corrugated Steel Pipe	300.0000	0 FT	348.160000	104448.00

Comm Code	Manufacturer	Specification	Model #	
40171527				

Commodity Line Comments: 10GA GALV

**Extended Description:** 

71" x 47" Corrugated Steel Pipe

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	83" x 57" Corrugated Steel Pipe	300.0000	) FT	569.480000	170844.00

Comm Code	Manufacturer	Specification	Model #	
40171527				

Commodity Line Comments: 8GA GALV

**Extended Description:** 

83" x 57" Corrugated Steel Pipe

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	57" x 38" Corrugated Steel Band	8.00000	EA	224.960000	1799.68

Comm Code	Manufacturer	Specification	Model #	
40171527				

#### **Commodity Line Comments:**

**Extended Description:** 

57" x 38" Corrugated Steel Band

Date Printed: Dec 27, 2022 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	64" x 43" Corrugated Steel Band	3.00000	EA	252.400000	757.20

Comm Code	Manufacturer	Specification	Model #	
40171527				

# **Commodity Line Comments:**

#### **Extended Description:**

64" x 43" Corrugated Steel Band

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	71" x 47" Corrugated Steel Band	8.00000	EA	348.160000	2785.28

Comm Code	Manufacturer	Specification	Model #	
40171527				

# **Commodity Line Comments:**

# **Extended Description:**

71" x 47" Corrugated Steel Band

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	83" x 57" Corrugated Steel Band	8.00000	EA	569.480000	4555.84

Comm Code	Manufacturer	Specification	Model #	
40171527				

#### **Commodity Line Comments:**

### **Extended Description:**

83" x 57" Corrugated Steel Band

Date Printed: Dec 27, 2022 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

# Pricing Page CRQS #0823-0362

Item No.	Quantity	Units	Description	Unit Cost	Total
1	300	FT	57" x 38" Corrugated Steel Pipe 12GA GALV	\$224.96	\$67,488.00
2	100	FT	64" x 43" Corrugated Steel Pipe 12GA GALV	\$252.40	\$25,240.00
3	300	FT	71" x 47" Corrugated Steel Pipe 10GA GALV	\$348.16	\$104,448.00
4	300	FT	83" x 57" Corrugated Steel Pipe 8GA GALV	\$569.48	\$170,844.00
5	8	EA	57" x 38" Corrugated Steel Band	\$224.96	\$1,799.68
6	3	EA	64" x 43" Corrugated Steel Band	\$252.40	\$757.20
7	8	EA	71" x 47" Corrugated Steel Band	\$348.16	\$2,785.28
8	8	EA	83" x 57" Corrugated Steel Band	\$569.48	\$4,555.84
			Grand Total	$\rightarrow$	\$377,918.00